
1. jug;gl;l cUtpy;
i) rkr;rPu; mr;Rf;fis tiuf.
ii) Row;rp rkr;rPu; tupirfspd; vz;zpf;if ahJ?

2. RUf;Ff.

3. x ,d; ngWkhdq; fhz;f.

4. RUf;Ff. 4.2 x 0.02

5. cUtpy; jug;gl;l jfty;fSf;Nfw;g Kf;Nfhzp ABC ,d; gug;gsitf; fhz;f

6. jPu;f;f 2x - 1 = 7

7.     I rjtPjkhff; fhl;Lf.

8. ‘ERROR’  vd;w nrhy;ypYs;s vOj;Jf;fis %yfq;fshf gl;bay;gLj;jpf; fhl;Lf.

� 01 Kjy; 20 tiuahd vy;yh tpdhf;fSf;Fk; ,j;jhspNyNa tpilaspf;f. xt;nthU

tpdhtpw;Fk; 02 Gs;spfs; tPjk; toq;fg;gLk;. (2x20=40)
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9. x ,d; ngWkhdk; fhz;f.

10. RUf;Ff.

11.  cUtpYs;s jftYf;Nfw;g
i) y mlq;Fk; rkd;ghnlhd;iw vOJf.

ii) y ,d; ngWkhdk; fhz;f.

12. ntw;wplq;fisg; G+uzg;gLj;Jf.

13. 196 = 2 x 2 x 7 x 7  vd;gijg; gad;gLj;jp   196    ,d; ngWkhdk; fhz;f.

14. A, B ,w;fpilNa 3: 1 vd;w tpfpjj;jpy; xU njhifg; gzj;ijg; gfpUk;NghJ A ,w;F KOg;
gzj;jpd; vd;d gpd;dk; fpilf;Fk;?

15. (-3)3  ,d; ngWkhdq; fhz;f.

16. $l;Lf
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17. nghJf; fhuzpfSs; ngupaJ (ngh.f.ng.) If; fhz;f.

3a, 12ab

18. RUf;Ff.

19. 0.6 I
i) gpd;dkhf vOjpf; fhl;Lf.

ii) rjtPjkhff; fhl;Lf.

20. 1> 2 tl;lq;fspYs;s vz;fspd; ngh.k.rp. 3tJ tl;lj;jpy; fhl;lg;gl;Ls;sJ. mjw;Nfw;g
ngh.k.rp. 20 MfTs;s vz;zpw;F nghUj;jkhd vz;fis vOJf.
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� Kjyhk; tpdh cl;gl Ie;J tpdhf;fSf;F khj;jpuk; tpilaspf;Ff.
� Kjyhk; tpdhtpw;F 16 Gs;spfSk; Vida xt;nthU tpdhTf;Fk; 11 Gs;spfSk; toq;fg;gLk;

gFjp II

1. a) Kf;NfhzpapdJk;> ehw;gf;fspdJk; mff;Nfhzq;fspd; $l;Lj;njhifiaf; fhz;gjw;F
tFg;giwapy; Nkw;nfhz;l nraw;ghl;il epidTgLj;Jf.

i) Kf;Nfhzpapd; %d;W mff;Nfhzq;fis ntl;b xl;ba Kiwia tiue;J fhl;Lf
(3 Gs;sp)

ii) ehw;gf;fspd; ehd;F mff;Nfhzq;fis ntl;b xl;ba Kiwia tiue;J fhl;Lf
(3 Gs;sp)

iii) ehw;gf;fspd; mff; Nfhzq;fspd; $l;Lj;njhif = 2x Kf;Nfhzpapd; mff;Nfhzq;fspd;
$l;Lj;njhif.
,j; njhlu;ig tpdh i, ii ,ypUe;J ngWf. (4 Gs;sp)

b) i) fPNo Kf;Nfhzpapy; jug;gl;l Nfhzq;fSf;Nfw;g a,b,c,d vd;gtw;wpd; ngWkhdq;fisf;
fhz;f.

(4 Gs;sp)

ii) x, y ,d; ngWkhdq;fisf; fhz;f.

(2 Gs;sp)

2. P = {380 200  vd;w vz;zpd; ,yf;fq;fs; }
Q = { 55 125 vd;w vz;zpd; ,yf;fq;fs; }
R = { 1 njhlf;fk; 100 tiuahd vd;fSf;fpilapYs;s 10,d; klq;fhf mikAk; Kjd;ik

vz;fs;}

i) P, Q njhilfspd; %yfq;fis ,ul;il milg;gpDs; vOjpf; fhl;Lf. (4 Gs;sp)

ii) n(P), n(Q)  If; fhz;f. (2 Gs;sp)

iii) NkNy ,U njhilfspy; \5| %yfkhf tuf;$ba njhilia njupT nra;J mjid

%yff; FwpaPl;by; fhl;Lf. (2 Gs;sp)

iv) njhil R ,d; %yfq;fis milg;gpDs; fhl;b mj;njhilia Fwpg;gpLk; tpN~l

ngau; ahJ? (3 Gs;sp)
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Grade : 8 -  Maths......

3. a) cUtpy; fhl;lg;gl;Ls;sthW ABCD vd;w nrt;tf tbtpdhYk; BCE vDk; Kf;Nfhz
tbtpdhYk; kuf;fwp elg;gl;l epyg; gFjp fhl;lg;gl;Ls;sJ.

i) ABCD gFjpapd; gug;gsT ahJ?
(2 Gs;sp)

ii) BCE ,d; gug;gsT> ABCD ,d; gug;gstpd;
      vdpd;>  CE ,d; ePsj;ijf; fhz;f.

(3 Gs;sp)
iii) kuf;fwp gapuplg;gl;l epyg;gFjpapd; nkhj;jg;

gug;gsT ahJ? (2 Gs;sp)

b) gf;f ePsk; 5cm MfTs;s rJuKfpnahd;wpd; gUkl;lhd glj;ij tiue;J mjd; nkhj;j
Nkw;gug;gsitf; fhz;f. (4 Gs;sp)

4. a) RUf;Ff.
i) (2 Gs;sp) ii) (2 Gs;sp)

iii) (3 Gs;sp)

b) nrt;tfnkhd;wpd; gug;gsT   2    m2 MFk;. mjd; ePsk; 1    m MFk;. mjd;
mfyj;ijf; fhz;f. (4 Gs;sp)

5. a) rhf;yl; xd;wp;d; tpiy I];fpuPk; xd;wpd; tpiyiag; Nghd;W ehd;F klq;fpYk; &gh 50

mjpfkhFk;. 2 rhf;yl;fSk; 4 I];fpuPKk; thq;Ftjw;F &. 400 nrythFk;.

ii) I];fpuPk; xd;wpd; tpiy &gh x vdf; nfhz;L rhf;yl; xd;wpd; tpiyia x rhu;gpy;
fhz;f. (2 Gs;sp)

iii) NkYs;s jftYf;Nfw;g x ,yhd rkd;ghnlhd;iw mikj;J mjidj; jPu;f;f.

(5 Gs;sp)

iii) rhf;yl; xd;wpd; tpiyiaf; fhz;f. (2 Gs;sp)

b) fhuzp fhz;f.

4x - 12 (2 Gs;sp)

6. a) &gh 9500 gzk; A, B ,w;fpilNa 3 : 2 vd;w tpfpjj;jpYk; B, C ,w;fpilNa 3 : 2 vd;w

tpfpjj;jpYk; gfpug;gl;lJ.

i) A, B, C ,w;fpilapyhd nghJ tpfpjj;ijf; fhz;f. (3 Gs;sp)

ii) A ,w;F fpilf;Fk; gzk; KOg; gzj;jpd; vd;d gpd;dkhFk;? (2 Gs;sp)

iii) xt;nthUtUf;Fk; fpilf;Fk; gzq;fisj; jdpj;jdpNa fhz;f. (4 Gs;sp)

b) xU tifahd gyfhunkhd;iw nra;tjw;F rPdp 200g, kh 500g, kh[upd; 100g
gad;gLj;jg;gl;lJ vdpd;> rPdp> kh> kh[upd; vd;gtw;wpw;fpilapyhd tpfpjj;ij vspa

tbtpy; fhl;Lf. (2 Gs;sp)
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7. a) rjtPjkhff; fhl;Lf.

i) (2 Gs;sp)

ii) (3 Gs;sp)

b) tq;fpnahd;wpy; &gh 12 000 fldhfg; ngw;w rkd; xU tUlj;jpw;Fg; gpd; tl;bahf
&gh 2400 I nrYj;jpdu;.
i) rkd; nrYj;jpa tl;bia fldpd; rjtPjkhf vOjpf; fhl;Lf. (2 Gs;sp)
ii) mNj tq;fpapy; Fkhu; &gh 5000 If; fldhfg; ngw;why; mtd; nrYj;j Ntz;ba

tl;bj; njhifiaf; fhz;f. (4 Gs;sp)
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